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Instructions :
The question paper has 36 questions in all. All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1 - 16 are multiple choice Questions (MCQs) of 1 mark each.
Every MCQ is provided with four alternatives. Write the correct alternative in your answer
book.

Questions from serial number 17 to 29 are 3 marks questions. Answer of these questions

should not exceed 80 words each.

Questions from serial number 30 to 34 are 4 marks questions. Answer of these questions

should not exceed 100 words each.

Question number 35 is a map question of 2 marks from History and Question number 36 is a

map question of 3 marks from Geography. Attach both the maps in your answer book.
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1.  Which one of the following is true regarding how the new artists depicted liberty
during the French Revolution ?

(a) As a female figure with a torch of enlightenment in one hand and the Charter of
Rights of Man in the other hand.

(b) Blindfolded woman carrying a pair of weighing scales.
(¢) The gold red and black tricolour.
(d) Rays of the rising sun.
OR
Which one of the following is not true regarding the Hoa Hao Movement in Vietnam ?
(a) It criticised useless expenditure and sale of child brides.
(b) It opposed gambling and use of alcohol.
(c) It motivated the Vietnamese to kill Catholic Missionaries.
(d) Its founder was Huynh Phu So.

2. Which one of the following is not true regarding the history of the nationalist movement
in Great Britain ?

(a) It was the result of a long drawn out process and not of a sudden revolution.

(b)  The wealthy and powerful English nation steadily extended its influence over the
Welsh the Scots and the Irish.

(c) Ireland and Scotland were equal partners in the union called the United Kingdom.
(d) The British flag and the National Anthem were actively promoted in this Union.
OR

Which one of the following is not true regarding the views of Paul Bernard about how
colonies should be developed ?

(a) Colonial economy should be developed to create demands for French goods.
(b) Reforms should be carried out to increase agricultural production.
(c) Landlordism should be introduced in the rural areas.

(d) Rural indebtness and poverty should be reduced.

3.  Which one of the following is not true regarding the impact of the First World War on
India ?

(a) Defence expenditure resulted in increased taxes.

(b)  Forced recruitment of soldiers was introduced in the villages.

() Income tax was introduced and custom duties increased.

(d) The hardships ended with the war as the British introduced the Rowlatt Act.

4.  Which one of the following is not true regarding the Jallianwalla Bagh incident ?

(a) It took place on 10t April 1919.

(b) Satyagrahis were forced to rub their noses on the ground and crawl on the streets.
(c) Its aim was to create a ‘moral effect’ on the minds of the Satyagrahis.
(

d) Its aim was to create a feeling of terror and awe.
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5.  Where is an experimental geo-thermal energy project located in India ?
(a) Gulf of Kuchchh - Gujarat
(b) Puga valley - Ladakh
(c) Ganga valley - Himachal Pradesh.
(d) Nagarcoil - Tamil Nadu

6.  Which one of the following does not influence the location of industries ?
(a) Availability of raw material and electricity.
(b)  Availability of markets and capital.
(c) Availability of raw material and labour.
(d) Availability of educational and medical services.

7. Which one of the following is not the true reason for inability of India in producing iron
and steel to its full potential ?

(a) High costs and limited availability of coking coal.
(b) Lower productivity of labour.

(c) Irregular supply of energy.

(d) Liberalisation and foreign investment.

8.  Which one of the following is not true regarding the sea ports of India ?

(a) Mumbai is the biggest port with a spacious natural and well sheltered harbour.
(b)  Tuticorin Port in Tamil Nadu has a natural harbour and hinterland.
<)

(

(d) Chennai is an inland riverine port.

Vishakhapatnam is the deepest landlocked and well protected port.

9.  Which one of the following is not true regarding the outcome of the April 2006 Movement

in Nepal ?

(a) Girija Prasad Koirala became the new Prime Minister.
(b) The Maoists came to power with a clear majority.

() The Parliament was restored.

(d) The new laws reduced the power of the king.

10. Which one of the following is not true regarding Bolivia’s water war ?
(a) The struggle involved mass mobilization.
(b) A political conflict led to popular struggle.
(c) It resulted in the restoration of the water supply at the old rates.
(d) It lacked spontaneous public participation.

11. Which one of the following is true regarding a coalition government ?
(@) Only two parties form an alliance and contest elections.
(b) Several parties compete for power.
() The government is formed by two or more parties coming together.
(d) Several parties form an alliance and compete for power.

087/X/SA2/04/B1 3



12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

Which one of the following is not true regarding how politics can be reformed ?

(a) Only legal Constitutional changes can reform politics.

(b) There is a need to strengthen democratic practices.

(c) Citizen's organisations and media should play an active role.

(d) The citizens should be empowered through rights like the Right to Information.

Identify the formal source of credit.
(a) Cooperative societies (b) Money lenders
() Trades (d) Landlords

Which one of the following is not a modern form of money ?
(a) Demand Deposits (b) Paper currency
(c) Coins (d) Precious metals

Which one of the following is not true regarding impact of globalisation on India ?

(a) It has created jobs in the service sector.

(b) People with education, skill and wealth have not been benefitted.

(c) Benefits of globalisation are not shared equally.

(d) Labour laws are not implemented properly and workers are denied their rights.

Which one of the following is not true regarding the Right to Safety ?

(a) Right to be protected against unsafe appliances.

(b) Right to be protected against unsafe working conditions.

(c) Right to seek information about functioning of government departments.
(d) Right to be protected against services which are hazardous to life.

In which year was the unification of Italy completed ? Mention two features of the

unification movement ? 1+2=3

OR
Explain any three features of the ideology of Phan Chu Trinh.

Explain the features of the Boycott and Swadeshi Movement.

What is a mineral ? Mention two types of formations in which they occur. 1+2=3

Mention any two challenges faced by the jute industry in India. State any one step

taken by the government to stimulate its demand. 2+1=3

Mention any two factors that have contributed to a healthy growth of the automobile

industry in India ? Name two centres where this industry is located. 2+1=3

In what three ways can the pressure groups influence the government policies ? Explain.

3x1=3

‘Democracy is an accountable, responsive and legitimate form of government’. Explain.
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24. Explain with examples how democracy can accommodate diversity. 3

25. How can the countries facing the foundational challenge of making a transition to
democracy set up a democratic government ? Suggest any three measures 3x1=3

26. Enumerate any three features of Multi National Corporations. 3x1=3

27.  Why did India put barriers on foreign trade and investment after independence ? Why
was the policy changed in 1991 ? Mention any two reasons. 1+2=3

28. How is a consumer benefitted by the right to be informed ? 3

29. Briefly explain the three tier quasi judicial machinery set up under the Consumer
Protection Act of 1986. 3x1=3

30. Mention any two economic obstacles that the liberal nationalists wanted to overcome ?
In what ways did the Zollverein customs union of 1834 try to overcome these
shortcomings ? 2+2=4

OR

What was the role of women in the anti-imperial movement in Vietnam ? 4

31. Explain the two most important factors that shaped Indian politics towards the 19203.2 =4
X =

32. What is meant by road density ? Describe any four advantages Roadways have over
Railways. 2+2=4

33. Mention any two challenges faced by political parties in India. Give two suggestions
that can help reform the functioning of political parties and its members. 2+2=4

34. What are the two main reasons for formal credit not being available to the rural
poor ? Why is there a need to expand rural credit ? 2+2=4

35. Two features A and B are marked on the given outline political map of India. Identify
these features with the help of the following information and write their correct names
on the lines marked in the Map.

(A) The place where the December 1920 Session of the Indian National Congress
was held.

(B) The place where a peasant Satyagraha took place in 1916. 1+1=2
OR
Locate and label the following items on the same Map.

(i) Dandi, where Gandhiji symbolically broke the Salt Law to mark the Civil
Disobedience Movement.

(i) Chauri-Chaura, where a violent incident resulted in calling off the non-cooperation
movement. 1+1=2
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Note : The following question is for the visually impaired (blind) candidates only, in lieu
of Q. No. 35. Answer the following questions.

(35.1) Name the place where Mahatma Gandhi organised a Satyagrah movement
amongst cotton mill grwoers.

(35.2) Name the place where the Congress session of 1929 was held. 1+1=2

36. Three features A, B and C are marked on the given outline political map of India.
Identify these features with the help of the following information and write their correct
names on the lines marked in the map. 3x1=3

(A) The Northern terminal of the National Highway No. 7.
(B) Mica mines
(C) Thermal Power Plant.
OR
Locate and label the following items on the same map with appropriate symbols.
(1) Srinagar, famous for woollen industry.

(2) Amritsar, a major international airport.

(3) Gandhinagar, a Software Technology Park. 3x1=3
Note : The following questions is for the visually impaired (blind) candidates only, in
lieu of Q. No. 36
(36.1) Name any two non-ferrous metallic minerals.

(36.2) Name the main gas pipeline link.
(36.3) Mysore is famous for which type of textile industry. 3x1=3
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1. ' wiEE I % SRF AU Rl | Easdl ol fR YRR g9’ o Wy 4 fefatad |

HH G HE T 7 ?
(a) U Hfge 3THfd o €9 | F5T5h Tk 319 H I 1 79 31k S H 977 & STl o
el

(b) ATl W UEt STy gE Aigenm S T W awe] faw gg off |
() gl o iR whrem fadm |
(d) I BT G ol foheoi |

srerar
oo # gu Sren-g1el sT<ie & Ty § frefafad § @ S 91 a9 9 T 2
(a) TE STUAN T IR goedl bt forshl ot fawey 0t |
(b) T T Wt IR v 1 foriy fopam |
() =9 fagafiat 1 SHeiiferes faemiEl 1 /A & faw 9Ra fean
(d) SHR HEATYF §28 T I o1

2. TrAfafed & @ F @ %A T2 e ¥ Tard o<ier & Ty § T 6l § 2
(a) T8 Tk oIt =it UK i aRom o 7 foh FRrIeh g8 il |
(b)  STHIR TR wiferremett it <91 ¥ ocel, TWhie 3TX AR W ST JHS ST |
() STERITE IR Whieclve FARee fohed Tme I & T §HF Higher 9|
(d) Foram S SR Ug-TH ol 59 YA H WA | seren fo7n |
3Yar
fr=fafea # 9 =0 o FoF T sHie & Sufaei @ w9 fasfaa foran S g fa=mi &
T § 9 TE 82
(a) mHIG aEgell @ w9 Ue w0 % fau sufre wt ered wawen w faswfaa fean S
=fey |
(b)  Hf ST g % fere Gom fepw ST =feu |
) o & H SHIQRY Rl g% foRan ST e
(d) TrHroT st TR TRIST 1 HH HET A1

—~

3. frefafed § @ &1 W FoF IR R YoM fova g5 & 999 & gy § 9 Té § 2
(a) &M W @9 o TR &y w4 H Ifg g |
(b)  TiTei B Sfhi T SeRA ot I Y E |

() TSR Y% foran o1 IR e 2T F6E T |

(d) TS5 % Ty HfeTEal qura & T Fifer IS Vere TR an fF |

4. Trafateg § @ o9 @ o1 et s g2 & gy § T T8 8 2
(a) IT 10 37U 1919 FI § |
(b) HEMNTEA! Sl T THT Tk THIA W T IR e H Fafal & o 9o | faaw
IERIKIRIE
() TH 3exF HAWNedl < fGAN T Afdeh T a1 e o |
(d) HH 3T W IR oy U1 e i
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5. 9Rd § ik y-ardig Sl qfErs el feord &2
(a) oS HI @ISl - TS (b) YW EE - TR
(c) T e - feHrEE gew (d) TRREA - dHATS

6. Trfafea & s e @ srafefa s genfad =& s ?
(a) = A AR fosTelt S TeTeud |
(b) TSIRT TR Yoit T ST |

(c) = A 3R HASIGU ol SYeTeHdT |

(d) e IR Fafercaenta glaensti =t Iqeeu |

7. frfafed 4 9 ®F 9 R0 9Rd § @8 R 39 1 T & H e 7 9 A W1
RO T § 2
(a) T H S HEd R DT ST |

(b) HSIGU GRI A IAGH T |

(c) ol @t STFTAfHT S |

(d) 3eNER AR fageft faw

8. YRd % W U & Gy H frefafed § 9 w9 1§72
(a) T o IS TCUNE € STal HIh! o1 Ahideh iR =31 TE B! gl UIais |
(b) AT H TASRIRA T<TTE H UIRfde T 3R =eyfH 1
() foemamTeTy Te & forn Teu o i uee T
(d) == T R 6 T §

9. \9 H 31U 2006 H T <o o gRom & geol # fr=fafed # 9 o g & 72
(a) TSN gHI e T gumE 99 |

(b) THIHEGE T FgHA | Tl H 3¢

(c) THS Y YA &t T |

(d) T A TS kT WAl 1w fea |

10. Sifafan & St 95 & g | fefafad § @ o8 91 weF 99 T €2
(a) Y H S TS THH W AR T8 |
(b) T TSHITI foaTg S Ho6 &t 3R o T

(c) 39 IRUM WEY G U W TaAY(d it T |

(d) THH ST W-THd RTERT @ o)
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

frefafed & 9 ' Teeray TR’ & F< | B 91 U 99 § 7 1
(a) 1 WA Tk TS TR A A & |

(b) T AT T foTT Hehreren et 2|

(c) a1 3iferek wIféaT 3Tag H AT TR oA T |

(d) ST WA Th TS hich |l & T Gehrerel Lt € |

TSI <l GRA o Ty B freafafad & 9 oF 91 wuF 99 T2 § 2 1
a) had HITA, Haefe qfteds TSHIfa S gUR Fehd € |

b) k(A SHAGR h! FSTEd HL i TR ¢ |

) IRk "l IR wfean = wfa yfen fHart =ifew |

d) FNTRERI &1 FET o STTHHR S STFIHR T T S AMM6T

o~ o~ o~ o~

U1 o I=eh B i T&= il | 1
(a) TEHR WAl | (b) WEHR|

(c) SN (d) Y-EErH (SHiER)

frefafed o & i ey g1 &1 $9 T2 § 2 1
(a) fenre feuifae (b)  ETS - H&T

(c) T&FF (coins) (d) g o1g

frafafed § ¥ HF-91 FU9 YR W I3l & Y919 & <4 | 9 T € 2 1

(a) TE FaT & § ARfEr G |

(b) Torem, sreret SR a1 T e ge |

(c) SveTehRor o e H oReR ot feiert e g2 |

(d) 9fHeh FHIT 3tk | AN & foRdl T SR TSIGU Sl 3T AR T&I fou T

ey o AR F e # frefafed 8 9 9 91 Fen g T8 2 1
(a) STGRE ITRIN & foaeg GLa 1 AfUHR |

(b) sTgRem R TRfafl & fasg gran &1 AR

() TR faumi =t SRRl & fawa § e 9 1 AR

(d) e o T TR dansti & foeg e & Af@R |

T T TR fohd o o T 3T ? THIh0T ST<IeH i ol Tamioansti sl Seor@ whifeng 11+2=3

Jrrar
wA-g-Tr= =t foramem =t forzl 17 foriweti 1 9o sifs | 3x1=3
FfEERR SR WIS SATRIe i foawareti o e S | 3
Qs 1 8 ? @S f59 31 YR o 3l TRl | I S €, SehT 3o hitelg | 1+2=3

TRA B T e % GHeT {1 TR 1 Seord hIfSTT | SHeht | i SgH o faT SRR
BRI 33T T hEt Teh HeH ol FUH hifd | 2+1=3
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21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

IRA | WX miedi % e % T fosh # e <F aret foRdl < hRehi 1 Seoid hifeid |

TH UM &1 Aafefd & & =i o AW faf@u | 2+1=3
o 19 Tehl | o9 TR TIHR h1 ATl Rl THIIT B Fohd § 2 TIL HiTorT | 3x1=3
" Srepa= T STRar, far TR S wrem €1 sEmen it | 3
I T T I 6 fohe TR et fafaean 3 amise a1 T 2 3
TRa=l i IR M % AT FAEET STUR SAM 1 AT 1 FFAl 0 ardd <91 fohd TR

AT aTT—eh LR A1 Hehd € 2 IS 19 SUF / Tk Foed | 3x1=3
IEUSI S ot TRl i fasroarsti st 7o Sifeie | 3x1=3
G 7 e ok ag faceht AR iR e & ferw anemd =& er w6t 2 1991 7 Hifaq i sea

@ E o ? R <t RO BT Seord e | 1+2=3
I & SAfeRR | U R anie g ? 3

JYTeRT G AU 1986 o ST=rid TTfud e =nfaes T 1 989 § ¥ SIS0 3x1=3

Y foral  enfofer 2eRiEl o1 Soorg FIfSTT fTen! STRETT Tegare IHr e 9red 9 ? {6

TRl | 1834 H €AY STTag™ Yook o A 9 hiHAT hl T KT i IR i 2 2+2=4
3Yar
ferra T H HEre fodiel str<ier | Afeetsdi 1 ftemt s ot ? 4

1920 % T H A TSHIT ol SR < Al &1 A HEul hiehi hl G Hifsy | 2x2=4

e T o 1 AT T2 Yo1d i 79T Teh URae & fohdl =R @i a1 guia wifsa |

2+2=4
IRA B TSHiTaeh gail o Het fordi <1 Al ol Seoia hifeTd | Tsiiaeh gall TR 3ok gl
i HENC § GUR § Heds H1E < G <ifed | 2+2=4

oy el & o stroenfies 07 Suersd =1 2 % < Y& RO 1§ 2 UTHI01 3507 ohi forear 39
! SRl i 2 2+2=4

TRA % T gC @ At R A 3R B W &1 fomioamd faf=a &t 7 €1 = <t T et %
STMYR T 37! TeaM whiferg, 3iR AHfas R fafea warstl w 37 @ M fafew | 1+1=2
(A) ¥ T ST feHmR 1920 H YR T w1 1 Afae gom o |
(B) € TN W& 1916 H fha™ Teamre g o |

arerar
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feu gu amfes | & frfafaa &1 quisd ok $7h 92 9 fafaw 1+1=2
(i) SIS~ SRl ST Wigg 7o ST<IeH o ST=id HehdlcHeh ©9 ¥ THeh HIA el T |
(i) =R - IR ST fEde w21 % IR ey STHednT <o arad o fer ma)

e : Frafafaa wom shaer giedm wanfdal o foe wo s 35 % T W ) 1+1=2
(35.1) U WM w1 W fafgy el Heren M T gt Huer foa aeed & S geme
SR RERII

(35.2) 39 TN w1 9 fafEw Sef 1929 § IR WSEF S 61 ARE A o1 |

36. YRd % fSU gC W HEfEA W A, B, C W o fasamsii =1 fafed fean mn &1 i &
TSR & YR R 37 foeroansti i wg=m sifse IR aHfas W fafe< wsti ® 96 9e

M fafea 3x1=3
(A) TS TSME 7 1 3TF<ad I T |
(B) 1Y Ht WM |
(C) et IR @i (ATd WIfe g
YT
Frefafed &1 Swge Hahdl 4 U 3T AT W S9fEd 3R 3 @t 9 fafau | 3x1=3

1) &R, 3 ST
(2) STTR, Th TG TR |
(3) T TR - WIUER IS e |
e : FrAfataa ue sae gieds aienfet o fau uea vuie 36 o T W ¥ 3x1=3
(36.1) fort <1 o1eie wfeil & 9 fafem)

(36.2) T 19 UEvesd 1 AW fafam )
(36.3) TR ford YR & 951 39 & foe ufag €2
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Question No. 35

oy
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Question No. 36
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